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1 .SIMULATED TESTS

Test 1
RKE— Paperl

Part I Listening Comprehension

Section A
Directions: In this section you will hear 10 short conversations. At
the end of each conversation, a question will be asked about what
was said. Each conversation and question will be spoken only once.
After each question there will be a pause. During the pause, you must
read the four suggested answers marked A), B),C)and D), and de-
cide which is the best answer. Then mark the corresponding letter on
the Answer Sheet with a single line through the center:
" Example: You will hear:
You will read: A)2 hours.

B)3 hours.

C)4 hours.



D)5 hours. _

From the conversation we know that the two are talking about
some work they will start at 9 o’ clock in the morning and have to
finish at 2 in the afternoon. Therefore, D)“5 hours”is the correct an-
swer. You should choose answer D on the Answer Sheet and mark it
with a single line through the center.

Sample Answer(A) (B] (C] ()

1.A)On a train.
B)On a ship.
C)On a plane.
D)On a bus.
2. A)She saw the program last night and enjoyed part of it.
B)She missed last night’s program about children.
C)She didn’ t want to see any program about children because it
wasn’t to her taste.
D) She didn’ t think the program about children worth watchmg
though told about it beforehand.

3.A)At 8:10. B)At 8:15.

C)At 8:20. D)At 8:25.
4.A)A pedestrian. B)A bus conductor.

C)A bus driver. D)The man’s tour guide.
5. A)He arrived there at 4 o’ clock.

B)He didn’t leave until 4 o’ clock.

C)He left at 5 o’ clock.

D)He was not permitted to depart at 5 o’ clock.
6. A)Mr White’s reason for leaving.

B)A vacant position.

C)Mr White’s new appointment.
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D)How to apply for a job.'
7.A)Taking a bus is cheaper than taking a train.
B) Traveling by train is cheaper than traveling by bus.
C) There are two buses to New York City every day.
D)The train is faster than the bus.
8. A)Attending a concert:
B)Talking on the telephone.
C)Listening to loud music.
D)Studying. )
9. A)He didn’t hear the noise but he knew something went wrong.
B)He is trying to prove to the woman the plane is quite modern.
C)He agreed with the woman that there must have been some-
thing wrong.
D)Nothing went wrong in spite of the noise.
10. A)She wants to work again tomorrow.
B)She’s willing to stop working.
C)She wants to consider half a day’s work as a full day.
D)She’s unhappy to work so long without extra pay.

Section B

Directions: In this section, you will hear 3 short passages. At the end
of each passage, you will hear some questions. Both the passage and
the questions will be spoken only once. After you hear one question,
you must choose the best answer from the four choices marked A),
B),C) and D). Then mark the corresponding letter on the Answer
Sheet with a single line throught the centre.

Passage 1
Questions 11 to 13 are based on the passage you have just heard.
11. A) The newcomer. B) The officer.
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C) The bus driver. D) The people in line.
12. A)It \“was‘the wrong form.

B)He had no social security number.

C) The vocabulary was not too specific.

D)He couldn’t read.
13. A)Because he filled out the wrong form.

B)Because the officer laughed at him.

C)Because he didn’t know what form to get.

D)Because he didn’t realize the form was in Spanish.

Passage 2
Questions 14 to 16 are based on the passage you have just heard.
14. A)The Toy of the Century '
B)How the Rubik Cube Was Made
C)Hungary Important Exports
D)How to Solve the Cube
15. A) In two different colours.
B)In four different colours.
C)In six different colours.
D) In eight different colours. ‘
16. A)Because solving the cube is very easyvfor most people.
B)Because it is loved by children.
C)Because it is loved by people of all ages.
D)Because it was invented by Erno Rubik.

Passage 3
Questions 17 to 20 are based on the passage you have just heard.
17. A)Bored. B) Interested.
C)Excited. D) Tired.
18. A)Of course. B)An easy day. -

— 4 —



C)A busy day. D)Probably.

19. A)Resting. : B)Getting dressed. :
C)Going out. D)Going to the hairdresser’s.

20.A)6:30 a.m. _ B)7:00 p.m. )

N C)7:30 pm; D)l:OO a.m.

Section C Spot Dictation

Directions: In this section, you will hear a passage three times. The
passage is printed on your Answer Sheet with about 50 words miss-
ing. First, you wdl hear the whole passage from the beginning to the
end just to get a general idea of it. Then, in the second reading, you
will hear a signal indicating the beginning of a pause after each sen-
tence, sometimes two sentences or just a part of a sentence. During
the pause, you must write down the missing words you have just
heard in the corresponding space on the Answer Sheet. There is also
a different signal indicating the end of the pause. When you hear this
signal, you must get ready for what comes next from the recording.
You can check what you have writteri' when the passage is'read to
you once again without pauses.

Among the best — known English stories are those about Robin
Hood. (21) of a group of men who lived in a
forest and spent their days (22) : . Their fame
spread ‘throughout the countryside and (23)
to catch Robin and his men so as to punish them. But (24)

The Robin Hood stories (25) ; like the

stories from The Arabian Nights, (26):

from the Middle Ages and have been told and (27)
. How much (28)___- .

how much they are based on faét, (29) : ‘But




many of these stories are (30)

Part ‘]| Reading Comprehension

Section A _
Directions: There are 3 reading passages in this part. Each passage is
followed by some questions or unfinished statements. For each of
them there are four choices marked A), B), C) and D). You should
decide on the best choice and mark the corresponding letter on the
Answer Sheet with a single line through the centre.
Questions 31 to 35 are based on the following passage:

Millions of Americans run to the bank or visit automated teller
machines when they need cash. They use credit cards when they

want to buy clothes, or television sets.

But there is an underclass — people with low incomes and no
credit history — who visit their neighbourhood, pawnshops ( 24 £ )
when they need cash or a loan.

An estimated 20 percent of the US population has no bank ac-
count, more than half of this group don’t have credit cards and can-
not get bank loans. ) A

“These people are borrowing an average of $ 50, "said John P.
Caskey of Swarthmore College in Swarthmore, Pennsylvania. “If you
add up in terms of how much dollar value pawnshops provide they
don’t look very important. If you add up how much of the popula-
tion they serve or the number of loans they make, they are impor-
tant.”

Because they make loans, pawnshops are a type of bank, often
calling themselves“the bank: of the little people”.

Caskey and Swarthmore student Brian Zikmund in 1989 looked
at the importance of pawnsht;ps in the US economy — the first seri-



ous study of the subject since the 1930s.

Their conclusion: pawnshops are the consumer’s lender of last
resort.

Pawnshop customers typically can not get credit at mainstream
financial institutions. They have poor credit records, excessive debt in

relation to their incomes, low and unstable incomes, or can not main-

tain positive bank account balances.

Typically, pawnshop customers borrow relatively small amounts
that traditional lenders are unwilling or unable to provide on a se-
cured basis.

“If you look at total consumer credit, the amounts provided by
pawnshops remain small, "Caskey said. “They are lendig primarily to

low — inceme people, in terms of the population they serve, they’re
really important. ” ' }
In 1988, about 6,900 pawnshops operated in the United States
— one for every two commercial banks. Data suggest these pawn-
shops made about 35 million loans, providing what Caskey and Zik-
mund estimate as 1 percent of the nation’s comsumer credit.
31:The best title for the passage would be ;
A)Credit Cards for the Poor
B)Banks for the Poor "
C)pawnshops Versus Banks
. D)Commercial Banks .
32.What is the percentage of the population in the United States
. that doesn’t get bank loans?
A)Roughly 20 percent.
B)The article didn’t say.
C)More than 10 percent.
D)Less than 10 percent.



33. What do the underclass people do when they need cash?
A) They go to local banks for help.
B) They apply for credit cards.
C) They ask for a loan from large banks. -
D) They apply for a loan in a pawnshop.
34. What can we learn about pawnshops?
A)Poor people come to pawnshops as their last resort.
B)Most people perfer pawnshops for their need of cash.
C)Pawnshops are an important part of the state economy.
D) Pawnshops are not important because they constitute only 1
percent of the nation's consumer credit.
35. According to John P. Caskey, pawnshops are important because

A)they provide great dollar value to the poor
B)they make big loans
C)they are serving the majority of the population
D)they make a large number of loans to the poor
Questions 36 — 40 are based on the following passage:
There is an alarming possibility that our American economy is
moving in the direction of what some people call a two — tier society
—a large population of people with middle — class or higher incomes
and values, with a considerable increase at the top,and a large num-
ber of people who have been economically and culturally uncoupled
from the main society. ;
What’s most alarming is that the ladder that has connected the
bottom to the top is now missing some important cross — bars. There
were certain industries, like the steel and auto industries, that pro-
vided more or less continuous ladders of jobs from the bottom to the
top. You could enter as an unskilled person, acquire new skills, and

~



move up the ladder into secure, unionized, better — paying jobs. But
now tl1$é'industﬁa have been seriously put in danger, and their
place as employers has been replaced by what I call the McDonald’s
employers. More people work for McDonald’ s than work for U. S.
Steel, but McDonald”s has no ladders. The problem is serious.

A great many eoonomisté_, myself included, feel uneasy about the

fact that 70 percent of the economy does what is called service work
and only 30 percent does what is called goods — related work. New
technology keeps entering the economy and bringing employment in-
to disorder. When you look back at how the American economy de-
veloped, you see a migration off the farm into the factory and out of
the factory into the office. The main push has come from technolo-
gy. There has been relatively little new machinery to push people out
-of the office, but that's changing now. If the computer creates jobs
in the office, the service sector will increase and there will be no
squeezing of employment. But if technology presses service people
out of work, I don’t know Iwhere they are going to go.

Personally, I ‘think American optimism is in for a very severe
challenge. We have always considered ourselves virtually to have a
right to be number one in the world. But of course we don’t have
any such right or assurance. And we have to be patiently prepared
for unsettling fact that we are number two, or three, or four in many
ways. In terms of health, for instance, we have fallen seriously be-
hind, and that’s a big blow to our self — image.

36. By the two — tier society here is meant
A)an underdeveloped society. B)a well — to —do society.

C)a developed society. D)a polarized society.
37.Among those that are going downhill in the United States is
A)McDcnald’s ' B)U. S. Steel.
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C) the service sector. D)new technology. :
38. In the opinion of the author, the main cause of farm — factory —

office migration is- : S liE

A)the population policy. B)the technology policy.

C)new technology. D)unemployment.
39. “Service people”in paragraph 3 refers to those

A)who work as servants or maids in private houses.

B)who serve in the army, navy, etc. . .

C)whose work does not produce goods.

D)whose work produces goods.
40. The author thinks _

A)that American optimists are about to have a very severe chal-

lenge. :

B)that Americans have a right to be number one in the world.

C)that Americans are all in good health.

D)that Americans are prepared for a big blow to their self — im-
Questions 41 to 45 are based on the following passage:

Greenspace facilities are contributing to an important extent: to
the quality of the urban environment. Fortunately it is no longer nec-
essary that every lecture or every book about this subject has to start
with the proof of this idea. At present it is generally accepted, al-
though more as a self — evident statement than on the base of a close-
ly — reasoned scientific proof. The recognition of the importance of
greenspace in the urban environment ,is a first step on the right way,
this does not mean, however, that sufficient details are known about -
the functions of greenspace in towns and about the way in which the
inhabitants are using these spaces. As to this rather complex subject
I shall, within the scope of this lecture, enter into one aspect only,
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namely the recreative function of greenspace facilities.

The theoretical separation of living, working, traffic and recre-
ation which for many years has been used in town-and-country plan-
ning, has in my opinion resulted in disproportionate attention for
forms of recreation far from home, whereas there was relatively little
attention for improvement of recreative possibilities in the direct
neighbourhood of the home. We have come to the conclusion that
this is not right, because an important part of the time which we do
not pass in sleeping or working, is used for activities at and around

home. So it is obvious that recreation in the open air has to begin at
the streetdoor of the housé. The urban envionment has to offer as
many recreation activities as possible, and the design of these has to
be such that more obligatory activities can also have a recreative as-
pect.

The very best standard of living is nothing if it is not possible to
take a pleasant walk in the district, if the children cannot be allowed
to play in the streets, because the risks of traffic are too great, if dur-
'ing shopping you can nowhere find a spot for enjoying for a moment
the nice weather, in short, if you only feel yourself at home after the
street-door of your house is closed after you.

41. According to the author, the importance of greenspaces in the ur-
ban environment ; AU
A)is still unknown B)has been fully recognized
» C)is being closely studied D)is usually neglected
42. The theoretical separation of living, working, traffic and recre-
ation has led to 5
A)the disproportion of recreation facilities in the neighbourhood
B) the improvement of recreative possibilities in the neighbour-
hood



C)relatively little attention for recreative possibilities
D)the location of recreation facilities far from home '
43. The author suggests that the recreative possibilites of greenspace
should be provided . _ .
A)in; the neighbourhood of the house
‘B)in the suburbs
C)ih special areas
D)in gardens and parks .
44. According to the author, greenspace facxlms should be dwgned
in such a way that ,
" A)an increasing number of rea'eatwe activities might be devel- -
oped |
B)more and more people might have access to them
C)more obligatery activities might take on a recreative aspect
D) recreative activities might be brought into our homes
45, The main idea of this passage is that
A) attention must be directed to the improvement of recreative

possibilities
B)better use of greenspace facxlmes should be made SO 48 to im-
- prove the quality of our life '
C) the urban environment is proving more recreation activities
than it did many years ago ‘ 3
D)priority must be given to 1he development of obhgatory activi-
ties
Section B Short Answer» Questions
Directions: In this part there is a short passage with five questions or
incomplete statements: Read the passage carefully. Then answer the
questions or complete the statements in the fewest possible words.



